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1. Opakovani

1=

Vypocitej zpaméti:
)-8 = b 2y =

Zapis jako jednu mocninu:
a)5 5=

Zjednodus mnoho¢leny:

a)3a+5a°-Ta-8+d° =

b) (4b+5b"+3) + (7 - 6b° + 5b) =

) e+ 2" —5)— (8 +de— 5=

d) (7d° + 5d° — 9) — (4d + 3d%) — (2d° — 4d) =

Vynasob mnoho¢leny:

a) 3x Sy xyE=

b) 4 (2t +3u) =

Uprav vytykanim na souéin:
a) 5k"— 10k =

¢) 2037 +35) —t(Br+s5)=

Uprav pomoci vzorch:
a) (k+4) =
&) (e + 24 =

Uprav na soucin pomoci vzorct:
a)l+2y+y =

Clz = =

Uprav na soucin:

a) o —a=

c) 185"~ 48h" + 32b =
Vytes rovnice:

a)2a+5=0

c)x—-7=0

b) 7°: 7 =

b) =55 - (-0,2x*y’z) - by’ =
d) (-3r+2/%) - (-31) =

3 2.3 2
b) 12mn—18mn"+ 9mn=

d)x3(1'+ D-@p+1)-(=3)=

b) {2z -3F =
d) (<7m —3n) =

b) 9u” + 6uy +1° =

d)dx’ —4x+1=

b) 7x" — 28x + 28 =

dist—16=
b)4b-16=0
d)15+3y=0
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